ch04 H|O|E{ &

+ One Hot Encoding 0|35} 7|

S5 U8

« 017|280 O[3
o 02 9ff At23tLE?
|

o 03E0|= QAY At ALY MG E7|(1)
. 04205 QRY, )Tt ALY A& E7((2)
o 05 XY 2|E Hels| 27|

01 20{ 0|l 27|

1-1. A5, HFH feature

o OO[H7} Y - A& feature
o HIOIE 7} ol 4t - &

MY

1-2. §/4 S S(feature engineering)

F o Ea[A 0] 7hE Mt Moy B &7

= I
= =
- =HE HOIH B2 X| =5t ZHO|M HE e o7y

—

1-3. Label EncodingS 0}& 7|

o A O{MEE LN2E2 HFY HOo[HMAM HEHez X

« B. #7d HO|H= =XAt2 HEE0{OF &
» HFY BAE AR HEY Fe AL
o =7HF0| ZHoF US, KR, UK, JPNSO|2tH O
 IfO|M 2}0|E2{2| skiearnOi A LabelEncoder2| &

A
aT

=
=

=
=

SOl

OoF

LS

1-4. What is One Hot Encoding?(One Hot Encoding= &

Jl. One Hot Encoding2 OiAldY &2l
Ct.

Lt. One-Hot Encoding® B =& H4E
Ct. Label Encoding0l B3& P22 <Az HIdl= A
KR ==(1,0,0, 0)
us == (0, 1,0,0)
UK = (0,0, 1,0)
CN =(0,0,0, 1)
2 Yo AZ HASHE 20/C

HHOI A 21 %1 E4 (0, 1

S0AM O L2 o

D
Jol

ct

FE'. IIIII

ro

rir

Ct.

=Xt2 0,1,2,32 HZ| =L}
AtE

291017}7)

F

== Fofl M3&== otLtel

ro
=

OneHotEncod ing2

04



o ABIOIAL S CHELUZ 7HH S (dummy variable)2t 1L & SHC},
o VS HFEE MSE 0 E= 1242 5L Ol MER S22 Hgst 2ol
In [2]

from IPython.display import display, Image
display(Image(filename="img/onehotencoding.png'))
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In [3]:

### 01. CIOIE =H|

import pandas as pd

data = { Heng\l: [Hbll, HCH, Ilall’ Hdl\] }
df = pd.DataFrame(data)
print(type(df))

df

<class 'pandas.core.frame.DataFrame'>

Out[3]:

from sklearn.preprocessing import LabelEncoder, OneHotEncoder

LabelEncoder A2 3}7|

» LabelEncoder()
= [1.fit_transform(H & <))

In [5]:

en_x = LabelEncoder ()

df['ete el A& '] = en_x.fit_transform(df['eng'])
df

Out[5]:

0 b 1
1 c 2
2 a 0
3 d 3

HIO|E{ S HACE|

o OneHotEncoder() M &82 Aol HE= HYE



g3t Q13T (OneHotEncoding) &

* OneHotEncoder()
= [1.fit_transform(H & <))

In [6]:

df['2teol el '] . values

Out[6]:
array([1, 2, 0, 3])

In [7]:

onehot = OneHotEncoder ()
val = df['2t2 el E "] .values.reshape(-1,1) # OneHotEncoder ()& AI2S
y = onehot.fit_transform( val ).toarray() #2AsS HAS Higz o

y
Qut[7]:
array([[0., 1., 0., 0.1,
[0., 0., 1., 0.1,
[1., 0., 0., 0.1,
[0., 0., 0., 1.1
In [8]:
onehot_val = pd.DataFrame(y, dtype=int)
onehot_val
Qut [8]:
01 2 3
00100
10 010
2 1 0 0O
300 0 1



In [9]:

df_new = pd.concat([df, onehot_val], axis=1)
df_new

Out[9]:

0 b 10100
1 c 2 0010
2 a 01 000
3 d 3 00 01

04 20| = QBT | AIY MG BI|(2)

In [10]:

data = { "@AFHE": ["MS","Apple", "Google", "Google"]}
df1 = pd.DataFrame(data)

df2 = df1.copy()

df2

Out[10]:

3|AHE
0 MS
1  Apple
2 Google
3 Google

In [11]:

### OneHotEncoding

from sklearn.preprocessing import LabelEncoder, OneHotEncoder
In [12]:

f1['SIAtE "]

Out[12]:

0 MS
1 Apple
2 Google
3 Google

Name: 2| AtH, dtype: object



In [13]:

### LabelEncoder

encoder_x = LabelEncoder ()

df1['Ibl_en'] = encoder_x.fit_transform(dfi['slAFE"]) #
df1

Out [13]:

S|AFH Ibl_en

0 MS 2
1 Apple 0
2 Google 1
3 Google 1
In [14]:

df1['Ibl_en'].values

Out[14]:
array([2, 0, 1, 1])

OneHotEncoding

In [15]:

onehot = OneHotEncoder ()
y = onehot.fit_transform(df1['Ibl_en'].values.reshape(-1,1) ).toarray()

print(y)

[10.
[1.
[0.
[0.
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In [16]:

| 2t= DataFrameEEiZ B

# HAE
= pd.DataFrame(y, dtype=int)

dx

Out[16]:

In [17]:

df1_new = pd.concat([df1, dx], axis=1)
df 1_new

Out[17]:

SIAFH Iblen 0 1 2

0 MS 2 0 0 1
1 Apple 01 00
2 Google 1010
3 Google 1010
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In [19]:

from tensorflow.keras.utils import to_categorical
import numpy as np

# define example
data = [15,17,5,10,0]
dat = np.array(data)
print(dat)

# one hot encode
encoded = to_categorical(dat)
print(encoded)

[15 17 510 0]

[[0. 0. 0. 0.0.0.0.0.0.0.0.0.0.0.0.1.0.0.1]
[0. 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.1.]
[0. 0.0.0.0.1.0.0.0.0.0.0.0.0.0.0.0.0.]
[0. 0.0.0.0.0.0.0.0.0.1.0.0.0.0.0.0.0.]
[1.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.]11

In [21]

# invert encoding
inverted = np.argmax(encoded[1])
print(inverted)
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In [22]:

import pandas as pd
import os

In [23]:

demo_df = pd.DataFrame({"HF=&_feature":['¥Z' 6 '0H{L', 'L’ TAX']})
display(demo_df)
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In [24]:

onehot = pd.get_dummies(demo_df)
onehot

Out [24]:

HEH feature Xl HFH feature XY HFH feature 0|2

(] 0 1
1 0 0
2 0 1
3 1 0
In [25]:

df = pd.concat([demo_df, onehot], axis=1)
df

ng

H
[=]

0
1
0
0
=4 feature 0|2

Out [25]:
HEH feature HFH feature MXAl HFE feature &
0 o 0
1 o2 0
2 a 0
3 AI—X'- 1
HA|

o L7t ZO0I5t= MY S HMHE| HEHE BHEL, Ol &
= scikit-learn2| 2l A 28 5}7|
= kerasE 8ol £7|
= pandasE &3l £7|
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